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1. 設 x∈Q 且( 3 2 )x × 3( 2) ＝2﹐則 x＝？ 解 3
4
 

2. 3 3 11－ × 3 3 11＋ ＝？ 解 －2 

3. 設 a＞0﹐x＝
1 11 ( )

2
n na a

－

－ ﹐n∈N﹐則(x＋ 21 x＋ )n＝？ 解 a 

4. a＋b＝ 3 3 2－ ﹐a－b＝ 3 2 3－ ﹐則 a4＋a2b2＋b4＝？ 解 4 6  

5. 設 17 288＋ 的小數部份為 x﹐求
2

2

2 4
2 4

x x x
x x x
＋＋ ＋

＋－ ＋
之值？ 解 2＋1 

6. 設
1 11 (10 10 )

2
n na

－

＝ ＋ ﹐n∈N﹐求 2( 1)na a＋ － 的值？ 解 10 

7. 設 3 3 2 3 2 3
2

a － ＋ －
＝ ﹐

3 3 2 3 2 3
2

b － － －
＝ ﹐求 a4＋a2b2＋b4的

值？ 解 4 6  

8. 設 n為正整數﹐x＝
1
2
(

1

5n＋
1

5 n
－

)﹐試求(x＋ 2 1x－ )n之值？ 解 5 

9. 設 a＞0﹐x＝
2
1
(a n

1

－a n
1

−
)﹐n∈N﹐則(x＋ 21 x＋ )n＝？ 解 a 

11. ＝－－＋ )3232(log4 ？ 解 
4
1
 

12. log8( 61053＋ ＋ 6621－ )＝？ 解 
6
7
 

13. 3 3log 6 log 2＋ ＋ 3 3log 6 log 2－ ＝？ 解 2  

14. log 6 log 2 log3×＋ ＋ log 6 log 2 log3×－ ＝？ 解 log 6  

15. log4( 74＋ － 74－ )＝？ 解 
4
1
 

16. 試求 8log ( 2 3 ) 2 3 )＋ － － 的值？ 解 
6
1
 

 


